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c) y=3-x2 (2=5xZ1) d) y=—x2+4x (-1ZxZ4)

RS 40cm DEFEZ 2 DICND, 2 RDHFEZZNENHDEBITT. [EFHSEZ 2 DED. ENODIE
REOBROMNZR/INCTDICE, HEZEDLDITNEIVD. Ko, BEDHNDR/IMEZRH L.

1 BRI 80 M@ %Z, 11B(CDE 100 ATikdE, &8 800 Bk E(Fh'HD, £ UELITFE
gNE, Bl 1 BDELIFICDOE, 10{BDEST. FTDLEFIBITDIEEZONDEND. MFEZiEK
([CTBDICE, Tz <SICTTNERVD.

[B(CH<]



RDP RN RRYDEE CTRE(T.

a) 2x24+7x+3=0 b) 4x2—-12x+9=0 c) x24+3x-2=0
2 2 Xz X 1
d) 3x*—-5x—2=0 e) x?—-2x+5=0 f)?+§_Z:0
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a) x24+4x—-12<0 b) 2x24+x—-620 c) 2x2-x<0

d) 6x2+10x—4>0 e) x(x—8) > 12x — 100 f) x2—x+1<5x-8
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